Bhakhra Dam is situated in which state ?

(A) Punjab

(B) Haryana

(C) Himachal

(D) Maharashtra.

e Wy R T A fem 2

(A) gomE"

(B) efmon ®
(C) Temm=re '

- (b e

(A) Yamuna

(B) Ganga .

(C) Kaveri

(D) Ravi.

TE fee fem #2

’
Varanasi is situated on the bm@ii ?

3.

8567/14,000/777/38

Bhunter airport is situated in which district of Himachal Pradesh ?
(A) Mandi

(B) Kullu

(C) Bilaspur

(D) Chamba.,

gm 7 agE feamw W % 9 f A fem @2
(A) TUet

(BY ®T_~
(© foaemag

(D) ==l

[P.T.O,
38/3
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Which is the only broadgauge railway line in Himachal Pradesh ?
(A) Mandi

(B) Kinnaur

(C) Una

(D) Bilaspur,

femee wy %t wm deie e e eR-w 22

(A) AU

& feir

©) N~

(D) faemag

When does Chamba Minger Fair take place ?
(A) March

(B) April

(C) May

(D) August.

& w AR T w2
(. vt

(B) T

(C) =2

(Ry 3|

Naldehra Picnic Resort is situated in which district of Himachal Pradesh ?
(A) Kullu

" (B) Mandi

(C) Una
(D) Shimla.



7.  Who was the first Chief Minister of Himachal Pradesh ?
(A) Lal Bahadur Shastri

(B) Dr. Yashwant Singh Parmar

(C) Thakur Ram Lal

(D) Virbhadra Singh.

oo WY ® TR gEEd 47
(A) e SRR Wl

By ¥l avEw f¥e TR

(C) SR TH oM

(D) o Tl

8. In olden times, which language of Himachal was written in “Tankri’ script ?

(A) Lahauli

(B) Chambayali

(C) Hindi

(D) Kehloori. '
%ﬂﬁaﬁaﬁ?—ﬁwqﬁ?mﬁ‘aﬁ'ﬁrﬁﬁfa@mﬁaﬁ?
(A) TR

(B) ==

(C)’T%Z?\/

(D) el

9. Who is the writer of ‘Kangra Paintings’ ?
(A) M.S. Gill
(B) V.R. Sharma
(C) Peter Home
(D) M.S. Randhawa.
‘wimE faaE’ F GEE #?
(A) TA.TAE.
&y dem
(C) 9= TH
(D) TATE. AN

8567/14. 5 [P.T.O.
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10. Which out of the following is the State bird of Himachal Pradesh

(A) Peacock
(B) Jajurana
(C) Monal
(D) Parrot.

Frfafen # 4 o oW w1 T WA
(A) H1R

(B STy

(©) w7

(D) dia

11. Who is the present Governor of Himachal Pradesh ?

(A) Acharya Dev Vrat
(B) Acharya Shashi Kiran
(C) Acharya Nand Lal
(D) Acharya Vishnu Deyv.

fooee & WM e BR E2
(A) 3=E Ega-
(B) = v
HCy 3 A=

(D) &= foorRa)

12.  Which place was submerged due to the formation of Pong Dam 2
(A) Mahipur
(B) Gopipur
(C) Nurpur
(D) Dehra Gopipur,
WA A AR W 5w o ep
(A) HIETT
(B) TR
€ T
(Dy ¥ T

AT A NNNTTT77/2R



13. Which of the following rivers does not pass through Himachal Pradesh ?
(A) Yamuna
(B) Ganga
(C) Chenab
(D) Ravi.
frafafes § @ ®R-0 T feome Ww ¥ ' o
(A) Fq
(B) M~
(C) o=
(D) TETA

14. From which place, Satlej river enters Himachal Pradesh from Tibet ?
(A) Shipki
(B) Makodi
(C) Loon
(D) Hadsar Jot.

g T4 frew ¥ oo W ¥ R wW ¥ ww wE @2
(A) Frv”

(B) It

(€) Tl

(D) TS wel

15. Which out of the following places is called ‘Gulmarg’ of Himachal Pradesh ?
(A) Mandi '
(B) Kotgarh
(C) Khajiar
(D) Dalhousie.
frofafan 4 @ AA-T @R feEed W W e’ weem #
(A) AUE]
(B) HETE
(©) afsEr
(DY TR

8567/14,000/777/38 7
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16. Which district of Himachal Pradesh has been declared best in the matter of cleanliness at all India
level ?
(A) Hamirpur
(B) Kangra
(C) Mandi
(D) Shimla.
fomee WY % FE-m fen geR @ W ¥ 9 ¥ wEdw Afw fEm w2
(A) TR
(B) wiel
(©) FUEIN"
(DY e

17. District Mandi of Himachal Pradesh is famous for

(A) Holi
(B) Dashehra
(C) Shiv Ratri
(D) Diwali.
femew ww = Tod fyen e ®
(A) = & fau
(B) WU & fag i
(Cy Fam & fou
(D) fa=t & faw
18. Baglamukhi temple is situated at
(A) Una
(B) Bankhandi (Kangra)
(C) Arki
(D) Nahan,
qregE wE feqg
(A) T o
KB FT@UE (Fimer) .

' 8567/14,000/777/38 o



19. Famous Tirupati temple is situated in which state ?
(A) Andhra Pradesh
(B) Tamil Nadu
(C) Kerala
(D) Telangana.

wfag frenfa ofx e = o fem 22
(A) 39 IR

(B) dfHetTg

(CEH@

(D) AT

20. Jawahar Tunnel is located in which state?
(A) Himachal Pradesh
(B) Maharashtra
(C) Jammu and Kashmir
(D) Karnataka.
a1 R T 0 fem #2
(A) femmm w_w
(B) HENI%
(C) 99 9 HyHR
() FAfeH

21. Bar Council of India has decided the age limit for legal education as

(A) 25 years

(B) 26 years

(C) 29 years

(D) 30 years.
mmaﬁﬁﬁmnﬁwa%aﬂﬁm&naﬁmiﬁmmmﬁﬁtﬁﬁﬂﬁ%?
(A) 25 =9

(B) 26 =

(C) 29 =

(D) 30 =Wl

[P.T.O.
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22. Which state of India joined ‘UDAY’ scheme in October, 2016

(A) Bihar
(B) Jharkhand
(C) Telangana

(D) Mabharashtra. ) ~ 7
o w1 - T e, 2016 § (UDAY' AT H gferfed g o

(A) feBr

(B) ER@vE
(C) de
(D) TR

23. Who was the chief guest of Republic Day Celebrations, 2017 ?

(A) King of Bahrain

(B) Prince of Abu Dhabi
(C) King of Jordan

(D) President of Iran.

ey faw e, 2017 ® TS S eE o
(A) T80 & TS

(B) 39 HEl & TSTHAR

(C) SEa & T«

DYER & T

24. Asia's oldest and largest Buddhist Monastery is situated in
(A) Tawang (Arunachal Pradesh)
(B) Lhasa (Tibet)
(C) Trincomallee (Sri Lanka)
(D) Ulan Bator (Mangolia).

qﬁmmmﬁmam@?ﬁz%%ﬁﬁmﬁ?
(A) TEM (B0 TN

By @ (f=m)

(C) Piwmeed ()

(D) 3T AR (Wﬂm)l
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25, The first Women Speaker of Lok Sabha was
(A) Sonia Gandhi
(B) Indira Gandhi
(C) Sushma Swaraj
(D) Meera Kumar.
g w5t wed Afeen ey off
(A) fEr T
(B) TR it
(C) guarT T
®r 9 TR~

26. Which of the following liquids evaporates faster ?
(A) Water
(B) Alcohol
(C) Petrol
(D) Kerosene.
freffen & @ RO 39 9 ST W dst @ g 22

(A) Tt

R ATTHRIEA

(C) Uz

(D) fd =+ @l

27. State of Punjab is called a land of how many rivers ?
(A) Two
(B) Four
(C) Six
(D) Five.
da T W R AR # uh we @
(A) &
&
C) @
XDy arEl
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28. Which of the following is a non-biodegradable pollutant ?
(A) Fruits
(B) Plastic
(C©) Mud
(D) Leaves.
frefafgs o @ wR-w SO-FEiEd 7 BH o wgus 87
(A) &l
By wfEF
(©) frdt
(D) T

29. Which one of the following is present in tobacco ?
(A) Nicotine
(B) Heroin
(C) Cocaine
(D) Marijuana.
dam A fefafes § ¥ w0 wm W R2
(A) Frfen
(B) U
&
(D) HRISTHTI

30. Largest cell in the Human body is called
(A) Nerve cell
(B) Liver cell
(C) Muscle cell
(D) Kidney cell,
WA W R A T T B weer @
Ay ‘
(B) ¥ Hif¥rHI
(C) =St wifymR

(D) TR HIRTH



31.

32.

33.

34.

35.

TR Y= w1 wEeE T= @
(A) fam=

(BY Ihat

(©) S

(D) wH=al

‘sfe=' T W o R
(AT T | T
®) frm

(C) wehait

(D) 7@

fr 4 ¥ gs 9 & TEEI
(AyTe TE T w2~
(B)s'avrmaﬁmﬁvm%v
© @& T G @

O) ™ TE ® TG @@ @ w

'y’ W W fadm ®
(K)vﬂa\/

(B) Sufera

(C) erufead
(D) & @ A B

“irata’ TR @ ara-REds @
Ay T + A=t
B) @ + <ifal
(©) T + S«
(D) 7@ + A

QRE7/M A NNNTT7IAR 13
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36.

37.

38.

39.

40.

T w e ¥ T TR
Ay 7
(B) Tt
©) W
(D) =N

TR oF W ww W @R weEd w e
(A) TR HTF el @l

B) oF s F forg faw @

€) TR H THW T

Oy 7@ = T w A T w

freffen oy & g @ T= 9T
> foma fom fer @ |

(A) =

(B) gl

(Cy Tt

(D) dqUEET

T MR G A TN IR F e T @
Ky =m

(B) T

(€) a7

(f5) =31~

Fefafan 4 A FR-m v q@m
(A) @M
& sn

& i

(D) gl



41,

42.

43.

45.

o faoedi & @ g =W wRu:

(A) i
(B) W
(C) w4
@y sfrai~"

frefafas § @ ‘oW’ O &1 Wl U9 gMU

(A) TR
(B) T
() wfa
Dy 91

‘seat fafemr wewrAl’ gEEl W oo ¥

(A) v w1 favmg e
@Y | F AW T
(C) R =
(D) =t gF

fm =W # 9 ® fou & faees 9fc:

> g9 B W OHEAT cereierenns
(A) g@

By =

(C) T&

(D) T

‘T’ WE-®Y H FAE ©
(AY eiferTer 7

(B) =l

(C) =H

(D) TE==

Quil



ﬁﬁﬂ(m'dm%#w) frer T W UgER wEA @ SW( <

WA Y A} il B Ram A W oaE-ae B fER AR ¥ TR TH B iy

Tl oo om afs 9 omvEw W % AR ogo W d PR W oweR oy g
A TR R @ T, A g okl we @ e w9 g §1 AR A frigy
T W g wEA P A e W Prldew won wfey) oRw i Ae WwET 9 FE g
T F feensl @ <K W WO W e #1 5@ e YA ), T T gy
¥ o T B < P SRl 98 W R e ww T mﬁﬁmﬁ?“’mw,
@Eﬂm%a’rmﬂﬁa@—ﬁa’nﬁaﬁs’m%l

46.

47,

48.

49.

W TV A G@E TN N AEd 8?7 e &
(A)m%ﬁmwmﬁﬁa@—mqéaqﬂfﬂaﬁmﬁﬁﬁﬁ

B'FS TuR § Padl w1 owem S gEnme otE @ @ o FEa @
(©) FEa e ¥ A @ fghst s woEe @RER Sy
m)wﬁmm—ﬁmmmﬁﬁwmﬂwwm%l

TEE H A %%mem 2

(A) dfa-difd G- HR ® 98 ol W™ WEe e
@y fr W9 ok fA g # e

©) fad G g ey w I F WA HEN
(D)sfaaﬁﬁw-»ﬁmm M f=ER whe e

mmmwﬂ%ﬁﬁwwﬁﬁaﬁwwaﬁﬁ
(A) 79 0 Hgre gwad o wEd §
B) 79 gd FEaW W ¥ T TH £
CYF @ T wW ¥ a9 owE §
(D) 79 JEag7 1@ 1 ¥ 99 T L

T % A W fEfafen F d e a4
(M/mﬁmmuﬁuﬁmﬁﬁm-ﬁmii
B) ¥ T T q T Wa-frem W wd o

C©) W ® W IEW T qE w el

(D) oe] frn e = @ o oy 4

8567/14,000/777/38 16



50.

51.

52.

53.

54.

SWe Tw & yew g
(A gig sl

(B) =aRIRG qfE H WM
(C) ¥ Hf& Ht ITavIHaAl
(D) T4 W & @

Give one word substitution for the following sentences :
> A drawing on transparent paper.

(A) Red print

(B) Blue print

(C) Negative

(DY Transparency.

Choose the word which is the exact opposite of the given word :
> COMFORT

(& Uncomfort

(B) Miscomfort

© Discomfort\/

(D) None of the above.

Complete the proverb by choosing the correct word :
> Time and tide waits for .........

(A) everyone

(B) some

(C) none

(D) youth.

Choose the analogous word for the missing set of the following analogies :

> Pigeon ; Peace : ; White Flag @ 7
(A) Friendship

(B) Victory

(C) Surrender

(D) War.

YA



55.  Which one of the following words spells wrong ?
(A) Purview
(B) Provisions
(C) Confidence
(D) Pakage.

56. Fill in the blanks with appropriate prepositions out of the following alternatives :

> 1 am tired .....ccoovevrenn writing to him,
(A) with

(B) of

(©) by

(D) from.

57. Select your choice out of the four indirect conversions given below for the following sentence :
> I said to the driver, “The bridge is not safe.” _
(A) I told the driver that this bridge was not safe.
(B) I told the driver that the bridge is not safe.
(O) 1 told the driver that the bridge was not safe.
(D) I told the driver that bridge was not safe.

58. Select the right one out of the four passive conversions for the following sentence :
> Who wrote this novel ?
(A) By whom was this novel written ?
(B) This novel was written by whom ?
(C) By whom this novel was written ?
(D) This novel was wrote by who ?

59.  Select the correct choice out of the four alternatives for changing the following sentence into
Interrogative form :
> Nobody would like to be illtreated,
(A) Who would like to be illtreated 9
(B) Who nobody like 1o be illtreated 2
(C) Would nobody not like 10 be illireuted 9
(D) Would you not like to be illtreated 7

8567/14,000/777/38 18



'60.  Choose the word which best expresses the meaning of the given word :
>TRUNCATE
(A) Cancel
(B) Act cruelly _
(C) Cut off
(D) End swiftly.

61. Choose the opposite word for the given word :
>RESERVED
(A) Likeable
(B) Talkative
(C) Popular
(D) Companionable.

62. Fill in the correct alternative :
> It is high time you ................ to behave properly.
(A) should learn
(B) will learn
(C) learned
(D) learn.

63. Choose the alternative which best describes the meaning of the following sentence :
> A place where birds are kept.
(A) Apiary
(B) Acquarium
(C) Aviary
(D) Hive.

64. Choose the most suitable *article’ to fill in the blank :
> 1 eat an €gg ...oonvinins day,
(A) the ’
(B) an
©€) a
(D) No article.



65. Select the correct form of ‘Superlative degree’ for the word ‘SWEAR’ :
(A) Sweared
(B) Swear
(C) Sworn
(D) Sworned.

Directions (Q. Nos. 66 to 70) : Find the suitable alternatives for these questions on the basis of

following paragraph.
We live at a time when history is being remade. There is unrest in every sphere of life. There

are contradictions in aim and confusion of thought in every line. In religion we preach the highest
stitions. The growth of national consciousness is

ay, the city of Calculta
gambling and betting,

philosophy and are the victims of the worst super:
retared by communal separatism. Take the economic situation; if anyone visits, S

in the Christmas season and finds out the amount spent on drink and dissipation,
he will not consider the people or the place to be by any means poor, and yet the existence of slums
and those who live in them under conditions hardly to be borne and a sad commentary On utter
economic chaos and injustice. The mass of poverty, the extent of illiteracy, the social obstacles in the
way of improvement, the tangled growth of vested interests (religious, political and economic) reveal
not one problem, but an infinity of problems. Many of us have an emotional apprehension of the
vastness and complexity of the situation but what is required is a scientific view. There are no short

cuts to their solutions.

66. On visiting the city of Calculta on Christmas, one gets the impression that the people living there

are
(A) religious minded
(B) immortal
(C) well to do
(D) poor,
67. What is it that does not reveal that country faces an inlinity of problems ?
(A) The mass of poverty and the exient of illiteracy
(B) The social obstacles in the way of improvement
(C) The tangled undergrowth of vested intercsts

(D) The amount of money being spent on drinking and other vices.



68.

69.

70.

71.

8567/14,000/777/38

What is required to solve the problems faced by the country is
(A) an emotional approach

(B) a scientific approach

(©) rough and ready methods

(D) nationalisation of major industries.

We exhibit contradictions in our aims and confusion in our thoughts when
(A) we visit the city in Christmas season

(B) we believe that growth of national consciousness is retarded by communal separatism
(C) we live amidst utter economic chaos

(D) we think negative,

‘Communal separatism’ means

(A) separation of different communities from each other

(B) celebration of the festivals by different communities separately
(C) antagonism between people of different faiths

(D) living of different communities in different areas.

The way ‘Minute is to Hour’, Paisa is to
(A) Ocean
(B) People

(C) Businessman
(D) Rupee.

I e w1 T R Y B, 4N A W ow owey R
(A) ¥9% 4

®) =i |

(©) =mrd 4

o TR

21 [P.T.O.



72,

73.

74.

During which month are the lowes
(A) January

(B) February

(C) June

(D) September.

{ lectures given ?

fhe e § T w9 @ KU 9@ €7

(A) Eeca
(B) ®&0

©) @
(f famr

Which of the f
ollowing is di
g is different from the others in its characteristics ?

(A) Nitrogen
(B) Helium
(C) Iron

(D) Hydrogen.

ot & ¥ o -
m@mmﬁﬁaﬂm‘q{wg7

(A) TEIA
(B) Zifeam
(Cy @il

(D) TTFGRA

(A) T 212
(B) T 168
(C) T 268
(D) T 200.

a7 EWET EalaLn 84 Tqu %
(A) 212 ¥TQ m
(Bf 168 ¥UU

(C) 268 TUQ

(D) 200 ®u9q

14%%";%@‘%7



75. Which of the following set of fractions is in the ascending order ?

&
12’

N=] BN

@ 3

£

T 12

6
(B) 3

O~

8
12

©) g

O

(D) None of these.
ﬁﬂﬁﬁéﬁr}ﬁﬁ?—mﬁmmwmmﬂ%

8
(A) "

oo|o\
-1 RN

L
8‘

L]

N=1EN

(B)

6 7 8
@3 5 13

(D) T8 4 HE T

76. A bus moves towards 5 km in the East and then 5 km to West. How far is the bus from the
starting point ?
(A) 3 km
(B) 2 km
(C) 1 km
(D) 0 km.
7% 79 5 felt @ @t wF wert & o R 5 fElt ufveaw w ww wemt #1 =W
Y % EH A et gt W R?

(A) 3 fodi
(B) 2 fad
©) 1 fert
(DY 0 famt
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77. In the following series which number will come in the blank space ?

> 42, 3.8, 34, 3.0, ccooeereerenn.n.

(A) 2.0

(B) 2.2

©) 24

(D) 2.6.

T F W gmw § e e W eR-dt gen e

> 4.2, 3.8, 34, 3.0, e

(A) 2.0

(B) 2.2

Gy 2.4
(D) 2.6.

78. Put the value of x in the following :

>3:27::4:x

(A) 64

(B) 75

(C) 100

(D) 80.

2 e d o« woAN
>3:27::4:x

(4Y 64

B) 75

(C) 100

(D) 80.



79. The difference between Sita and Rama's age is equal to the difference between Rama and Geeta's
age. If the total of Sita and Geeta's age is 48 years, what is Rama's age ?

80.

81.

8567/14,000/777/38

(A) 24 years
(B) 26 years
(C) 30 years
(D) None of these.

W SR T F ARG W e @ SR M ;A HOTW B AR I w

AR M W g g 48 a4 £ @ ww oW Y FN L2

(& 24
(B) 26 9
(C) 30 =
O) ¥ ¥ ®E T

Select the right answer for the blank space :

(A) 50
B 40 30 [ 25] 25
©) 30 30 | 25| 35
D) 20. 20 | 30] ...

foq wm & fag @& W 9w
(A) 50 |

30 | 25 ] 25

40
®) - 30 | 25| 35
© 30 20 [ 30] ...

(D) 20.

Which is the smallest fraction in the following ?

(A) 5/6
(B) 6/7

©) 7/8

D) 80.

frer & ¥ v 99 fire wR-EE?
(&Y 516

(B) 6/7

©) 7/8

(D) 8/9.

25

[P.T.O.



. ed using letters
82. From the given alternative words. find the word which cannot be form g of the

given word -

> POSTMASTER
(A) POSTER
(B) TOASTER
(©) sTOP

(D) PAPER.

mmﬁﬁwmwmme%aaﬁmmmqﬁm
ST Fahdl :

> POSTMASTER
(A) POSTER
(BY TOASTER
(C) STOP

(D) PAPER.

83. The way ‘Tree’ is related to ‘Root’, ‘Fumes’ is related to what ?
(A) Cigarette |
(B) Fire
(C) Temperature
(D) Chimney. /
ﬁrqmqmﬁrs#mﬁua%.@ﬁﬁ H"'ﬁmﬁwﬁmﬁ?
(A) famz
(BY &
(C) a9
(D) famt ‘

8567/14,000/777/38 e



84. Find the odd one that does not belong to the group :
(A) Tiger
(B) Lion
(C) Leopard
(D) Wolf.
Fefafas 4 & 5@ 9fm < o @ wwbaa i @
(A) St
(B) I
(@ agam
D) sfgm

85. In a certain code. if HOUSE is coded as INVRF, what will be the code for CROWD ?

(A) DQPVE
(B) DQPVK

(C) DQVPE

(D) DQEPV.

=ren 51 fed Fyife smaen §, 9 HOUSE &1 #ig INVRF 2 & CROWD T %=
= B2 PyBC\}GFQH\,lKLT’\Y\O ‘FCQES‘TU

{A)-DQEVE _
(B) DQPVK DQ_P\/(.; yu-/\ K \,f¢
(C) DQVPE
(D) DQEPV.

86. In 2 line, Meena is standing at third position from the last and there are in total 12 girls in the
Jine, what will be the position of Meena from the beginning of the line ?
(A) Bth
(B) 1th
(C) 12th
(D) Tth,
vE e A i fe ® dmE v W # oaen 3w a0 g (2 @seal 2a e
Calk U
(A) w4l

(81 1081
(C) 124

(D) 74l
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' rice of 8 shirts ang
87. A shirt costs ¥ 420 and a trouser costs I 630. What will be the total p

8 trousers ?
(A) T 9200
(B) X 8700
(C) T 8400

D) T 6400.
@Wﬁaﬂwauom%aﬂtmwﬁaﬁaﬁmmom%lSmm

§ TSI W | Wed ¥ B?

(A) 9200 ¥ 5
B) 8700 TR \“’%0 brb‘iv\go y
(Cf 8400 TH % 533' 0
(D) 6400 T ®

— r v r

88. Ravi had gone to bazar with ¥ 600. He spent 30% of it. With how much money is he left ?

(A) T 280

B) T 180

(C) T 460

(D) T 290.
@6oommmmlmm30%EﬁWM|MWmmﬁm
cEi)

(A) 200 #93
(B) 180 %93
(@ 460 TH
(D) 290 FTTAI

8567/14,000/777/38 o8



89.

90.

91.

R5G7/14.000/777/38

What will come in place of (7) ?
> GECA : YWUS : : RPNL : 7
(A) IHFD

(B) JIFD

(C) JHFD

(D) IGEC.

(?) & WA | T M Er B

> GECA : YWUS : : RPNL : ?

(A) HFD K /L' MM O’p
(B) JIFD

(& JHFD

(D) IGEC.

What should be subtracted from 356 so that it is divisible by 6 ?
(A) It is already divisible by 6

(B) 8

©) 6

D) 2.
356 § § N werr 9 f 9% 6 9 fawfsm & W®@?

(A) I5 2@ ot 6 ¥ fawsw ®

o L2
© 6

@oF 27

The Project method was advocated by
(A) John Dewey

(B) M.K. Gandhi

(C) Rousseau

(D) Armstrong.

sfEem fafy @1 @mdR fEm e

(A) S Ea A

(B) THH. Tt A
(€ w4 1

D) e A

29



92. The term NIEPA refers to
(A) National Institute of Educational Plann
(B) National Enginecring Equipment Research Institute
(C) National Institute of Research and T raining
(D) National Institute of Teacher Education.

NIEPA Wik 9 affimg 2§ -
() e s st G U8 e
S (B) YvEw vl sepae, fed TR

€) FE IR e " g g

(D) ¥FFE IEgE HF A TIHIE

ing and Administration

93. Kothari Commission was appointed in
(A) 1951-52
(B) 1954-55
(C) 1958-59
(D) 1964-66.

FeM IEm w1 g w1 | oo
(A) 1951-52 H
(B) 1954-55 |
(C) 1958-59 4
(D) 1964-66 HI

94. Education Commission that was appointed after Independence is called
(A) University Act (1948-49)
(B) University Education Commission (1948-49)
(C) Wardha Scheme
(D) Gokhale's Bill,
mm‘wﬁwﬁmwm&nammma:
(A) favafaamm  wfuffm (1948-49)
B) fovafaarea foe s@m  (1948-49)
() a4t g
(D) TirEe fa@

ARA7/14.000/777/38 an



95. Lord Macaulay was in favour of

96.

97.

(A) Vedic Education

(B) Education through English medium
(C) Education through Hindi medium

(D) Education through Vernacular medium.

SIEER-Ea B - D)

(A) afcw far &

(B) U= WreAH gW foiam @
© &=t 7w g fam =
(D) <30 91 TeEw g fen &

Mudaliar Commission was appointed in
(A) 1952-53
(B) 1948-49
(C) 1950-51
(D) 1958-59.

TR s wt Fafm w oo
(A) 1952-53 ®
(B) 1948-49 H
(C) 1950-51 ¥
(D) 1958-59 Hl

Which institution has maximum control over education ?

(A) Family
(B) State

(C) Religion
(D) People.

frg T w1 e W AR afusm frm g @

(A) IRER
(B) T4
(C) uH
(D) S



98. Actual name of Kothari Commission is
(A) Education Commission
(B) Lower Commission
(C) Justice Commission
(D) Hunter Commission.

PR JET W oowen AW B
(A) Ren smEm
®) = smEm
(C) =™ IEm
(D) TR [

99. The report of Wardha Scheme was published in
(A) 1948
(B) 1958
(C) 1938

(D) 1988.
Tl g # RO weIvm g8 off
(A) 1948 H
(B) 1958 ¥
(C) 1938 ®
(D) 1988 Hi

100. The University created by Sadlar Commission is
(A) Agra University
(B) Mysore University
(C) Patna Unitversity
(D) All the above,

deer wEm gu ufea fem T frafem



101.

The major principle of Basic Education is
(A) Learing through reading

(B) Learing through books

(© Learing through activity

(D) Learing though teaching.

i e w1 g fae R

(A) Fe HRam

(B) Y&l g i@

(€) fFm-wam s HE

(D) =9 g HieH

102. NCTE was established in

103.

(A) 1973
(B) 1995
(€) 1974
D) 1976.
NCTE #I e &t TR ot

(A) 1973 ®
(B) 1995 H
(C) 1974 H
(D) 1976 HI

The major contribution of Secondary Education Commission is

(A) Vocationalisation of Education
(B) Multipurpose Education

(C) Creation of Higher Secondary Schools

(D) All the above,

quafes foa aEm w1 qEA AR #

(A) foan =1 PAEaEET

(B) wg3edia e

©) = weAmE famerd w1 gow
(D) SWe a4l

RER7/14 DNN/777/38
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104. “Operation Black-board’ means
(A) Fulfilling minimum needs of students
(B) Giving black-board to all schools
(C) Blackening all school Boards
(D) Operation with the help of black-board.

‘Operation Black-board'” ¥ &Ry 2

(A) foafisl +1 <Fow smEvgw@sl & QU wE
(B) wt fouedl #1 vaMUR 3

©) faueg = wft wed & FEm w0

(D) ¥WHIE F WE ¥ Tea-fafeam s

105. Government of India established University Grants Cﬁfninissi(,)n mq
(A) 4th November, 1948 ' o
(B) 10th December, 1948
(C) 25th January, 1948 7 _‘”.;
(D) 18th July, 1949. § \" y
IRG TWEHER A ﬁ?aﬁ:ram fm’m ef{rqh a,-”r o R o
(4) 4 TR, 1948 mi
B) 10 TR ~1948 ﬁs’w

-t
(©) 25 El?ﬁff 1'948 ﬁ

I,_(D,) 18 vﬁﬂf 1949

106. Whrch tbut o‘f the following is the function of NCERT ?
(A) Implementation of National curriculum framework

(B) Grading of Institutions
(C) Accreditation of Institutions
(D) Policy formulation.

u@aiﬁwmm@mmmwﬁwﬁﬁqaﬁﬁﬁmmm%;
(A) T eE-TE w@ w fEmfen

(B) TEMS & US WEH FN

(C) TEqS H AT HE

(D) Ffa Fmfr Fwam
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107. Hartog Committee Report emphasized the national importance of which type of education ?
(A) Primary Education
(B) Secondary Education
(C) Higher Education
(D) Vocational Education.

TEM sEM 3 fRw YR W e ® UgE Tew W F@ fn
(A) wafhes foen
(B) wreafgw furen
(C) I=a fenem
(D) a&-twt firem

108. The headquarters of NCTE is at
(A) Bangalore

(B) Jaipur
(C) New Delhi
(D) Ahmedabad.

NCTE &1 §&ed ©
(A) SR T

(B) SAR

© T Ret H

(D) SEHIER T

109. Sadlar Commission was appointed on
(A) May 12, 1915
(B) Oct. 17, 1916
(C) Sep. 14, 1917
(D) Dec. 20, 1918.
e aEm w1 Fafa w1 T ol
(A) 12 T, 1915 @l

(B) 17 &WRA, 1916
(©) 14 fo@=r, 1917 I

(DY 20 feg=r, 1918 Il
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sented in

110, The second review of National Policy of Education (NPE) was pre

(A) 199p

(B) 199;

(©) 1997

(D) 1993,

T e i w g whe v @ A

(A) 1990 &

(B) 1991 ¥

©) 1992 ¥
() 1993 T

111. A child who can not work at pace with the children of the same age is called
(A) Backward child
(B) Creative child
(C) Gifted child
(D) None of these.
T A o % e A W owe w W W T 8w
(A) T o
(B) vl wretes
(©) wfavmTeht e
D) ¥ ¥ w8 |

112. How can the students be disciplined in their life ?
(A) By encouraging to participate in al] school activitieg
(B) By giving prizes to disciplined Students
(C) By lecturing on discipline

(D) By giving examples of disciplined people.
ﬁmﬁfa‘faﬁrwﬁaﬁﬁ%mfmﬁmmm%?
(oY 3% foamem = o iy L

(C) JTUET W 9T g
(D) ST =EA F e gy

ara7/1A NNO/777/38



113.

114.

8567/14,000/777/38

A teacher is tryin
g to understand potentialiti i :
i, rellatest o dide objective 7 Potentialities of his/her students. Which of the following fields

(A) Educational sociology
(B) Social philosophy

(C) Media psychology

(D) Educational psychology.

T s o i e el w owme W @ W @ A wee
87 I W WA W a2

(A) Educational sociology
(B) Social philosophy
(C) Media psychology

(9) Educational psychology.

According to Right to Education Act, admission of children to a particular class has been
proposed on the basis of

(A) ability of the child
(B) age of the child

(C) socio-economic status of the child

(D) education of the parents.
fore 7 AVER SuFEE 3 oER, el @ R faRre W d W WOy SR
z

(A) TTF FT A

(B) ¥ w1 ¥

©) 9mE w1 wEfaw A AfdE /W
D) wa-fra w1 fown

37 [P.T.O.



115. During the conduction of a seminar
(A) only discussion is done
(B) only questions are asked
(C) only explanations are given
(D) None of these.

AR & smem & oo

(A) Fow fran-fanel fem o €
(B) ®ael W Y@ VW ©

(C) 39w =mam @ W ¥
D) 7 ¥ & 7

116. In your opinion why girl education is very important ?

(A) Because it will provide them jobs after studies

(B) Mliteracy out to be removed ‘
(C) Educating a female child means educating the whole family

(D) Children from both sexes are equal.

AE W@ A afew f of oEvEw w7

(A) FifF TH IR UgE ® AR AwG et

(B) 3FYeW W Tl =IET

(C) aifeet &1 faftm F0 &1 o & R wRar =1 ffm F

(D) =F & & == wam f

117. Some of the students in your class have not done the homework on the given day. How will you
handle them ? N '
(A) You will give them one more chance
(B) You will ignore them and move to next lesson
(C) You will warn them
(D) You will give them punishment to make them realise their carele

T F g R 3 . ssness.

ST EER W e : el
¥ T R %1 o s wd T
(A) 80 I TEF SR s
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118. The dress of 5 teacher should pe

(A) of the latest fashion
(B) simple but attractiye
(©) very costly

(D) local dress,

T AR T yemE; il ey
(A) TETH BIR B amEn

(B) WHRY Wy sty
(©) &1 e

(D) =T 9y

119. Now-a-days, you will find private education centres in abundance in all the cities. In your opinion

what loss is possible due to these centres ?

(A) Students feel disinterested in schoool classroom studies

(B) Habit of self-study is given least importance

(C) Student study only for exams

(D) All the above losses can be there.

Aeme gt e § omu et foewr o vggmem ¥ W omue! W@ W W e @
FO FG T® B THEA © gHd T2

(A) faendi wen 4 wgR ¥ W W wd ©

(B) WA # ARA H Agd FH e | 8

©) foemefi fow when & foq woE w @

(D) SWE Wt THEE B "R #

20 ™ = -



120,

121.

cher. What will you do ?
Assume that your students do not consider you 2 good tea

(A) Compel them to consider you a good teacher
(B) Try to work hard to prove yourself

©) Will not bother much

(D) Prepare group of students who will create terror so that nobody dares to speak againg, you,
TR B o Rl et oo s T AR E S
(A) 5% W w0 fF 3 oIUEl UF oS FSAWR M

(B) @& W vty = = fau Hfer wRem w7

© s wm =& =

@) Tl &1 o wE e st ow d W anE wE O A b
feomm 3 =y

Balbir belongs to a poor family. He comes to seek your help to continue his studies. What wil]
you do ? .

(A) Make fun of his poverty
(B) Refuse him to assist
(O Encourage and assist him

(D) Will not help him as you feel he is not worthy of it,

% fau amm %1 e =7 w4
(A) T e w A g
B) 755 % fau T @t &
(C) vrafed FH 4 TR wH
(D)mmmﬁmmm%ﬁﬂmmqﬁ%l
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122. If only a few students are present in your class, what will be your reaction ?
(A) Teach them without caring for others
(B) Ask them to sing songs
(C) Ask them to share their problems with you
(D) Leave the class immediately.

o AR Fa A wgE w9 fywefl v ¥ A o Fn WfbE w2
(A) T o TR fRu fm R v

B) 3% ™ % fw w3

© 3 ¥ % F I ol wmed omw @ Wi W

(D) ¥4 ¥ T =R o wE

123. Who is responsible for good education of students ?
(A) Teachers only
(B) Teachers and students, both
(C) Parents, students, teachers and good environment
(D) Educational institutions.
frenfial =1 o=t foren & fw @R fgEER @2
(A) HEA FATH
B) JmF ° famef, Hf
(C) e, famefi, seams o ST @ERT

(D) feror Heam|

124, 1f you find your student smoking in a public place, you will
(A) warn him on the spot in front of others
(B) try to advise him that it is a social evil and can have bad effect on his health
(C) give him punishment in front of the whole class
(D) ignore him,

R o Rl frneff A wdetE wR W e 9 o § @ e

(A) 3 I R W owd B oW e 39

B) Wl 7 F KW B FF oA gEE o § ok e e WRE W
W I9IE IS TEHA ©

€ ¥ g wen & WA e win

(D) I9H! 3R @ T |

P



125. The true objective of education i$
(A) to facilitate all-round development of students
(B) to help the students in acquiring knowledge
(C) to prepare students for jobs
(D) to make students able so that they can earn a

e wr wE ey @

(A) foaenfela =1 wggal fomm T

(B) faaffsf =t wm-wim ¥ Werdm HTT

(©) il = dwfEl ® g @R FE
(D) frafi ® @ wEw T 6 d S

living.

it e FL T

126. If a teacher has complete knowledge of his subject, then
(A) he can maintain discipline in his class
(B) he can develop self-confidence
(C) he can ask students to take private coaching from him

(D) All the above.

R FeTE oo faw w i wEed ®, A

(A) 9% AT FEW H FREA 9T W FEA T

(B) 3TF! ACAfNAE TE ThA §

() =% foaffdl & @5 w&a ¢ fF 3 Sw@ e wifgn o

(D) 39 Tl

127. The modern educational system
(A) is not employment oriented
(B) does not give students the chance of activity centred learning’
(C) is generally bookish
(D) All the above.
anyfres foenm gomedt

(A) IR wfza T @



128. An effective teacher s that
(A) who teaches mora] values
(B) who knows his subject well
(C) who believes in discipline
(D) None of the above,

(A) s g @ AR ¥ e
(B) T & fawa = qf wFER §
©) St ogomem ¥ favery e #
D) ¥ ¥ ¥ =

129. Environmental education is necessary in schools
(A) in order to create environmental awareness among students

(B) in order to increase morale of environmentalists
(C) in order to make students environment friendly

(D) All the above.

faererl § waferer fen afEd ®

(A) AIfF Frafds & werw @y ¥ R W oW
(B) TIfF AfaRoasl w1 WAEQ WGEl SN Wk
(C) wfF foenfeld =i wafeRw I wE0 W G

(D) STaa gl

130. While framing curriculum, which points should be taken into account ?

(A) Aims of education
(B) Researches in the field of teaching

(C) Needs, abilities and interests of students

(D) All the above.
TgEFEY o wed R fage o em W 'ﬂTfé'Q?

A) fmn & =@

(B) AT & &9 H WY

(©) B F oTEvIRA, A w e
(D) SWisd gl



131.

132.

133.

i i exams ?
Which of the following leads to SUesS in the

(A) Anxiety
(B) Un-preparedness
(C) Less understanding of the subject

(D) All the above. . - 37
frofafas & @ feq SOl @ woan ® wE SETC

(A) fa=m

(B) TR 7w

(C) fowg =+t ¥w wmw B

(D) ST gt

National unity will grow if

(A) a teacher serves in his own village

(B) a teacher serves in his own state

(C) a teacher serves in his own district

(D) a teacher serves in his country anywhere.

(A) TR o9 & e § ARG s ©

(B) AG% 94 & T § AHd o © .
(C) s & & o ¥ A s

(D) A% & W § FE o ARG w2

In your opinion when do the teachers rush for tuition ?

(A) When they get less amount of salary

(B.) When they are not satisfied with their current income because of greed
(C) When they are very knowledgeable

(D) All the above.

aE T A R T A it ww oy

(A) 5@ 3% FA T oo #

© & ¥ T A fgm ww %
(D) STE |



134. Whjch'quality of the teacher is liked most by his students ?
(A) His punctuality
(B) His partiality
(C) His love for discipline
(D) His dominance,

s = S Rk @ e e o 82
(A) SH=t  wgfa

(B) STt fysger

(C) SHH SqEET & W wwE

D) SEHT T

135. Dr. A.P.J. Abdul Kalam is respected for
(A) being a great scientist
(B) being the President of India
(C) being a great scientist and committed teacher

(D) being a outstanding statesman.
T THS. e wAW F IEA fR@ W €

(A) TeM aAF BH & W
(B) 9RA@ & URHl TW & AW
(€) TeF WfE 3 WEs FUTE 'A% AN
(D) F7IA TeAIed EH & AW

136. Eight-year old Sohan is unable to read as per his class level. The teacher should

(A) inform the parents
(B) detain him in the same class
(C) try to find out the cause by discussing with experts

(D) give him reading exercises of lower level.
mWWMmaﬂ?ﬁwa}aﬁwmﬁm\m%lﬁwﬁmﬁ
(A) mar-foga 1 gag #

(B) SH IH wen H T W

€) faviosi & @y == FE HROT K WA TOC

D) S8 = W & YA AWE FAC

e —



137.

138.

139.

. will
If a teacher has to punish his students, he

(A) order them to become a cock
(B) beat them with cane
(C) start abusing and scolding them

(D) None of these. I
R N S R A AU

(A) Tt F1 w1 ARW W
(B) T8 ¥ fyer =uom
(C) mfagi T 3 TRm
(D) ¥ ¥ wE &

A good teacher should show more interest in

{A) Tuitions

(B) Self-study
(C) Enhancement of knowledge level of his students

(D) Both (B) and (C).
TF = AHAE w SfuE wfg fRart =T
(A) gwH o

(B) T H

(C) s faenfeai #1 97 w@m o

(D) (B) &R (C) ZMil

Majority of the students in rural areas do not take admission after High school because
(A) they have to go long distances to attend colleges

(B) higher education does not provide them employment

(C) they can't bear the expenses of higher education

(D) Both (A) and (B)

(B) T=-RIl % TP W Tt oy 4
(C)éﬁ-ﬁlﬁﬂaﬂ?ﬁfmqﬁmm
(D) (A) ¥R (B) ¥Hil



140. The main cause of morg] degradation in India is because of
(A) teachers not fulfilling thejr responsibilities

(B) running after time due to fast social change
(C) materialistic attitude

(D) unscientific tendencies.

T H RE gl W PR e FRO ®
(A) TR EN o R ® qw A wen
(B) T WMINT® wooilg ® wRor W = wE
(©) st mgfy

(D) SEFE e

141. Whose behaviour affects the students the most ?
(A) That of the Principal ‘
(B) That of a Politician
(C) That of a teacher
(D) That of a tutor.
fqenfeidl w1 fhw 1 wEER WE@ ofush WARE wE €2

(A) FUFAE™E F
(B) UsHIaw I
(C) AATGH H
(D) Trsht feter =1l

142. By which method students learn to the maximum ?

(A) By seeing

(B) By reading

(C) By listening

(D) By doing themsclves.

g wgfn gm frendl mE e el €

(A) T@HT
(B) U@+l

(C) gl
(D) I &7 F



143. All the teachers should be punctual because
(A) it inculcates discipline among students
(B) students will understand the value of time
(C) students will also reach in time
(D) All the above.

il AT W gww W wE= oA WifRy wife
(A) T foenfil & oqwmm w1 wem o
(B) fomdt w99 & wew = gwEm

(€) foemefl st v w w5

D) SR g

144. A teacher's most important challenge is
(A) to make students do their homework
(B) to maintain discipline in the class
(C) to make the teaching-learning process enjoyable

(D) to prepare the question paper,

s & fou eifemevas o ®
(A) TaaRiai @ 371 EHEE wEm

(B) &l H STIEIEA S T

(C) 9-9187 fwar &l TA=<gE® AV
(D) TA-99 AR I

145. If a teacher has no proof against a student's mistake, then
(A) the student should not be punished
(B) the student should not be humiliated
(C) doubts should not be raised about him

(D) All the above,
Ife s & T fAEmdl #® el wm owE 9w W Al € o

(A) fomeff =+ d5eom & fFwm e =nfeu
@) freei ® wwe W & W

(C) W& W WE Y T FAW =Aey
() s wsh



* 146. Education i :
ucation is a triangular process, Its three angles are

(A) Student, teacher, social environment
(B) Schoal, student, teacher

(C) Student, school, acquisition of knowledge
(D) Teacher, student, acquisition of knowledge. '

fow & freeotw wiem ¥ s @9 @ @
(A) foeneff, forers, s ammERo

(B) ww, fomnefi, foerms

(C) famefl, =@, I@ = wia

(D) foers, fomned, 3= =t wifta

147. On which of the following criteria can the efficiency of a teacher be judged ?
(A) Publication of books
(B) Period of service
(C) Personality of the teacher
(D) Fulfilment of needs of the students.
fofafag § § B9 9@ ® NR | TE A9 HI HEEHAl T oA (wa W
THal 77
(A) THI H THRHA
(B) Hd w1 oFEfy
(C) &vAds Al
(D ol @t eevEw@e w1 R

148. The method of silent reading
(A) increases the comprehension skills
(B) helps to remember in a better way
(C) does not waste time
(D) All the above.
(Ay Az FwE@ A
(B)aﬁaﬁzﬁ@mmﬁﬁmm%
(C) T4 g7 matd A 'R S
(D) ST gl
| a0 [P.T.O.



149, Tcaching students in their mother tongue at primary level
(A) helps the studemls to get education in a natural environment
(B) provides students more chances to get jobs in future
(C) helps to develop intelligence of students faster

(D) develops self-confidence among students.

foenfeist &t wafes ww w1 foen Ag-ww ¥ 9

(A) iRl w wpfe amERT § Ruen o § weRA Aot €
(B) foafial H wfrar ¥ Hw0 TR @ fuw eEE WE ©W €
(C) foanfeil =1 Hfew fFm T ¥ T OB |

(D) foenféfal & ewenfavarg @@l 2

150. Who stated, “There should be no difference between the words and actions of a teacher” 7
(A) Rabindranath Tagore
(B) Madan Mohan Malviya
(C) Zakir Hussain
(D) Mahatma Gandhi. _
fFer wa1 o “foe & T AR TRl 9 ¥ o 98 oW =few™?
(A) =TT SR
(B) W& Wied HeTE™
©) T g
(D) HeTeHT Tt
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